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import java.math.BigDecimal;

import static java.lang.System.out;
public class BaseClass {

public static void main(String[] args) {

BigDecimal num1 = new BigDecimal("100");
BigDecimal num2 = new BigDecimal("50");

/0%

BigDecimal result1 = num1.add(num?2);

out.printin("f0 & : " + resultl);

/1R

BigDecimal result2 = num1.subtract(numz2);

outprintin("2 & : " + result2);

WESIES

BigDecimal result3 = num1.multiply(num2);

out.printin("f2 =& : " + result3);

//BRE

BigDecimal result4 = num1.divide(num2);

outprintin("|& =& : " + resultd);

//HEER

BigDecimal num = new BigDecimal("100"); //FBttEa9E

out.printin(num1.compareTo(num?2)); // KT B, IRE 1

out.printin(num.compareTo(num1)); //ETF B, iRE]O

out.printin(num2.compareTo(num1)); //INF B, IR[E -1

out.printin(num1.min(num2)); /KRN R/ ME, IR B/ N\EYEL

out.printin(num1.max(num?2)); /RN ERIRK(E IREIARIEN
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public int compareTo(BigDecimal val) {
// Quick path for equal scale and non-inflated case.
if (scale == val.scale) {
long xs = intCompact;
long ys = val.intCompact;
if (xs != INFLATED && ys != INFLATED)
return xs!=ys? ((xs >ys)?1:-1):0;
}
int xsign = this.signum();
int ysign = val.signum();
if (xsign != ysign)
return (xsign > ysign) ? 1: -1;
if (xsign == 0)
return O;
int cmp = compareMagnitude(val);
return (xsign > 0) ? cmp : -cmp;

}
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public BigDecimal max(BigDecimal val) {

}

return (compareTo(val) >= 0 ? this : val);

public BigDecimal min(BigDecimal val) {

}

return (compareTo(val) <= 0 ? this : val);
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